Stainless Steel Tubular Pull

UECMS UECFS ssnestus

[SUSEZ)
UECFS-E
UECMS | shizix =i &
7
=) r T
< ! }
e rr <
o
qll 1
1| 111
5 Il
SRCIRAE
B
M
L1
L
UECMS-EE: B S I UECMS-K B3P &::E SE
Pyl
B A L1 B H h L Lm M ?Nfﬁﬁ FEE(g)
UECMS-30-200-M8 30 200 |20 |75 |45 |265 |15 M8 1000 495 - 585
UECMS-30-250-M8 30 [250 20 |75 45 315 |15 M8  |1000 540 - 635
UECMS-30-300-M8 30 300 |20 |75 |45 [365 |15 M8 1000 585 - 685
UECMS-30-400-M8 30 400 |20 |75 |45 |465 |15 M8 1000 675 - 785
UECMS-30-500-M8 30 500 20 |75 45 565 |15 M8 1000 765 - 885
UECMS-30-600-M8 30 600 |20 |75 |45 |e65 |15 M8 1000 855 - 985
*1: FENOEEEH.
o UECMS | &% o REMFHINFTHF,

QIFENM. KB I RHRERIEE,

%/ IR %
g K

OIETERRIEE FRENF M4, HBLRBLHATEE,

TV TS T L = Pooxx
REJH KL

N NBK

0512-5290-1560

o MHEMIEL R,

o TIIRIEF" RS IMEL. HIBLL,
[UECMS |— Mg
[UECFS|—m#84x

o T MIEE R,

o [UECMS (IR a7~ R I o 2ok F M S FaR e AN oSk 18 42

o [UECFS] 3£ M6, M8HIRIZLL,

® MRS 2Fh,
MRERSHRRFSHER,
REFS (K —Bp=
RERS [E-—TEWE

© [UECFS | 3511 4 i 5 22 3= FRR9 PO /N A 842 (SUSXM7 8o
B ARIR LK ENRS (BRASI.

/ BISEZIED = P.xxxx

RiL;5 18

info@nbk1560-chn.com.cn

https://www.nbk1560-chn.com.cn/

® M. RELIE

Bt

]

i
fi

RACIRAE
TkiRss
PN F igie
(BRZKIHRIBRSS)
R

UECFS-E 22 & -3 B UECES-K 2L 23 8- 2E o5

Bs

UECFS-30-200-M6
UECFS-30-200-M8
UECFS-30-250-M6
UECFS-30-250-M8
UECFS-30-300-M6
UECFS-30-300-M8
UECFS-30-400-M6
UECFS-30-400-M8
UECFS-30-500-M6
UECFS-30-500-M8
UECFS-30-600-M6
UECFS-30-600-M8

* 1 FANNETFHA.

o i [UECMS]| (SMEZ) 5 (RIRZ) HE, HEIH

MEZRIEF,

MNEEFEEFHESMMMT,

UECFS

N NBK

m-m
'MAN&MACHINE ©
ELEMENTS
O rotHis
UECMS-K s UECMS-E #h#:x UECFS-K mi#s UECFS-E m#:
SUS304 SUS304 SUS304
B#6 (LHE) SUS304 B#6 (LHE)
SUS304 SUS304 SUS304
SUS304 SUS304
SUS304 SUS304
SUSXM7 SUSXM7
=18 =]
/
< I
Eize
i i
! ‘& = L
M
L1
L
4 mm
BFHEE*T — IRLEMITHHIIRSS
A B H h f M
L1 L L (N) RE(9) By R
30 |200 20 |75 |45 |265 |15 |M6 1000 485 -575 M6x 16
30 |200 20 |75 |45 265 |15 |M8 1000 475 - 565 M8x 16
30 |250 |20 |75 |45 |315 |15 |M6 1000 530-625 M6x 16
30 |250 20 |75 |45 |315 |15 |M8 1000 520-615 M8x 16
30 [300 20 |75 |45 |365 |15 |M6 1000 575-675 M6x16
30 |300 20 |75 |45 365 |15 |M8 1000 565 - 665 M8x 16
30 |400 20 |75 |45 465 |15 |M6 1000 665 - 775 M6x 16
30 |400 20 |75 |45 (465 |15 |M8 1000 655 - 765 M8x 16
30 |500 20 |75 |45 |565 |15 |M6 1000 755 - 875 M6x16
30 |500 20 |75 |45 |565 |15 |M8 1000 745 - 865 M8x 16
30 |600 20 |75 |45 |665 |15 |M6 1000 845 -975 M6x16
30 |600 20 |75 |45 (665 |15 |M8 1000 835 - 965 M8x 16
o WSIETF
I r
I r—

UECMS

0512-5290-1560

info@nbk1560-chn.com.cn

—
WRLLIITHRY

ERBLRHIRS (RASID K, HE-RESKREEM[-P,

https://www.nbk1560-chn.com.cn/



